



Journal of Advances in Mathematical & Computational Sciences An International Pan-African Multidisciplinary Journal of the SMART Research Group International Centre for IT & Development (ICITD) USA © Creative Research Publishers CrossREF Member Listing - https://www.crossref.org/06members/50go-live.html

Empirical Evidence for Rainfall Runoff in Southern Nigeria Using a Hybrid Ensemble Machine Learning Approach

Nwanze Ashioba¹, Frances Emordi², Patrick Ejeh³, Christopher Odiakaose⁴, Christopher Odeh⁵, Obiageli Attoh⁵ & Maduabuchuku Azaka⁶

^{1,3,4,5,6} Department of Computer Science, Dennis Osadebay University, Anwai-Asaba, Nigeria. ^{2,5}Department of Cybersecurity, Dennis Osadebay University Anwai-Asaba, Nigeria. **E-mails:** osegalaxy@gmail.com, Patrick.ejeh@dou.edu.ng, ashioba.nwanze@dou.edu.ng,odeh.christopher@dou.edu.ng, azaka.maduabuchuku@dou.edu.ng; emordi.frances@dou.edu.ng, Attoh,obiageli@dou.edu.ng

ABSTRACT

Rainfall as an environmental feat can change fast and yield significant influence in downstream hydrology known as runoff with a variety of implications such as erosion, water quality, and infrastructures. These, in turn, impact the quality of life, sewage systems, agriculture, and tourism of a nation, to mention a few. It chaotic, complex and dynamic nature has necessitated studies in the quest for future direction of such runoff via prediction models. With little successes in use of knowledge driven models – many studies have now turned to data-driven models. Dataset is retrieved from Metrological Center in Lagos, Nigeria for the period 1999–2019 for the Benin-Owena River Basin. Data is split: 70% for train, and 30% for test. Our study adapts a spatial-temporal profile hidden Markov trained deep neural network. Result yields a sensitivity of 0.9, specificity 0.19, accuracy of 0.74, and improvement rate of classification of 0.12. Other ensembles underperformed when compared to proposed model. The study reveals annual rainfall is an effect of variation cycle. Models will help simulate future floods and provide, lead time warnings in flood management.

Keywords: Evidence, Rainfall Runoff, Southern Nigeria, Hybrid Ensemble Machine Learning Approach

Nwanze Ashioba, Frances Emordi, Patrick Ejeh, Christopher Odiakaose, Christopher Odeh, Obiageli Attoh, & Maduabuchuku Azaka. (2024): Empirical Evidence for Rainfall Runoff in Southern Nigeria Using a Hybrid Ensemble Machine Learning Approach. Journal of Advances in Mathematical & Computational Science. Vol. 12, No. 1. Pp 73-86. Available online at www.isteams.net/mathematics-computationaljournal. dx.doi.org/10.22624/AIMS/MATHS/V12N1P6

1. INTRODUCTION

Rainfall runoff predictions have since become a critical issue with the deluge at the Benin-Owena river basin of Nigeria, from 2015 through 2018; And in 2022. Many states witnessed displacement of her citizens (Abda et al., 2022; Abdulrahim et al., 2021).



Its prediction is a critical component to planning, coordination of farming. Such prediction are possible via the various mathematical models grouped into: knowledge and data driven models (Ojugo, Abere, et al., 2013; Ojugo & Nwankwo, 2021a; Ojugo & Okobah, 2017). Rainfall forecasts always focuses on runoff quantification. Its increased awareness and dynamic nature of environmental issues – have given additional impetus to hydrology. New models must meet new requirements and challenges to deal with associated tasks such as erosion, land degrading, leach, flood resource management, land-use consequence and climate changes etc (Adegede et al., 2014; Adeola et al., 2021; Oyebode et al., 2011). Rainfall has influence in flooding and downstream hydrology with implications and complications of erosion, water quality, and the design of engineering structures – which in turn impacts the quality of life, agriculture, sewage system, and tourism etc (Oludapo Olusola et al., 2022).

For these amongst many other reasons, early warning of rainfall runoff situations is critical in the management of water resources (Obiora-Okeke et al., 2021). The complex, chaotic nature of atmospheric processes that produce rainfall makes rainfall runoff modelling as well as its prediction – a tedious task (Aper et al., 2019; Awotwi et al., 2018; Carter & Parker, 2009). Thus, (Chen et al., 2007; Okafor et al., 2017) in spite of advances in weather forecasting, accurate rain forecasting is the most challenging in operational hydrology.

2. MATERIALS AND MACHINE LEARNING FRAMEWORKS

2.1 Rainfall Runoff Models

Rainfall-Runoff predicts estimates via mathematical models usually grouped into: (a) knowledge models, which has long-standing application, focusing on runoff quantification. The increased awareness, dynamic nature and complex excitation of such environmental problems, has given additional impetus to hydrological modelling (Ojugo et al., 2014; Ojugo, Eboka, et al., 2015; Ojugo & Yoro, 2021). Thus, models must now aim to meet new requirements, as they are to deal with other tasks such as erosion, land degradation, pollutant leaching, irrigation, sustainable flood resource management, land-use possible consequence and climate changes (Panjala et al., 2022). Despite efforts, hydrology is still faced with the fundamental problem of calibration and validation – a consequence of limited data availability and the natural heterogeneity of RR-process (Adeola Fashae et al., 2023; Oseke et al., 2021).

Another form is the Data Driven models that arose from the need to use AI properties to learn feats in time that is not possible via knowledge driven models (Eboka & Ojugo, 2020; Ojugo & Eboka, 2018b, 2018a, 2020b). The need for additional data, more computing power required as added by dimensionality in data and search space, continues to make data models via evolutionary mode in hydrology modelling (Iwara et al., 2019). Study will seek to model runoff via data driven models as educational tools that grants us insight into the task at hand (Ojugo, Yoro, et al., 2013). There are basically 2-types of models (Durowoju et al., 2018):

 Knowledge-Driven Model: Such models have been extensively used assessing the safety of underground disposal of nuclear and toxic waste. Validation is quite impossible as most modelers often provide examples demonstrating the limited accuracy of a model's prediction; and argues that verification and validation are misleading (Ngene & Obianigwe, 2018; Okafor & Ogbu, 2018) – as results often convey an impression of correctness, which cannot be justified scientifically.



Validation assess a model's goodness of fit. With groundwater model, some argue that model verification and validation is impossible; and rather, that models can only be confirmed by demonstrating that their simulations agree with observations (Gao et al., 2021; Ojugo & Oyemade, 2021; Ojugo & Yoro, 2013). This confirmation is only partly possible and thus, concludes that the main benefit of models is heuristic – as they yield preliminary hypotheses assisting in gaining better understanding and insight of the task at hand (Ojugo & Otakore, 2018b, 2020b, 2020a, 2021).

2. Data Driven Model: Ojugo et al. (2013) compared validation as predicted versus observed data without specification as to if this data has been used for calibration or not. Validation evaluates confidence in a model's ability to represent the problem entity, and emphasize that a model cannot be expected to be absolutely valid (Ojugo, Yoro, et al., 2013; Ojugo & Yoro, 2013). Rhoda et a. (2017) made 3-classes on runoff validation as: (a) replicative validity agrees that observed data used in model development and estimation of features, (b) predictive validity accurately simulate a variable or time period, which has not been used in model development and calibration, and structurally valid if it reflects the main couplings and behaviour of a real system, and (c) specific validity ensures a generally accepted standard for model validation is adequate for a special purpose (Rhoda et al., 2017). The latter, notes that all models are unrealistic but emphasize that parameter calibration and use of model features makes validation less rigorous – so that even inadequate models is likely to pass tests as provided (Oyerinde et al., 2015).

2.2. Motivation / Statement of Problem

Study is motivated (Ifeka & Akinbobola, 2015; Igwenagu, 2015) as thus:

- 1. Efforts towards hydrological models are still faced with the fundamental problem of validation due to limited available data and heterogeneity of the runoff process led to a rise in data-driven model, which are poised on the focal need to learn feats in time that are somewhat not possible via knowledge-driven models (Akazue et al., 2022; Zala & Chaudhari, 2018).
- 2. Also, many problems are related to model test such that traditional tests like split-sample are often insufficient to evaluate a model validity and assess a variety of the different approaches. Need for additional data, more powerful tests required and the dimensionality of model adopted via data driven models that use evolutionary mode to yield (Allenotor et al., 2015; Allenotor & Ojugo, 2017).
- 3. The formulation of an optimization task problem requires careful planning and selection of a few design variables as possible whose outcome procedure indicates whether or not to include more variables in a revised formulation and/or to replace some previously considered design variables with new design variables. Optimization tasks are quite intricate to selected feats, variables, constraints and parameters for a multi-objective function that ultimately yields an optimum solution. These components vary greatly with each problem domain (Yoro, Aghware, Akazue, et al., 2023; Yoro, Aghware, Malasowe, et al., 2023).

To overcome these shortfalls, we adopt a radial basis function neural network for runoff prediction at the Benin-Owena River Basin in Nigeria.

2.3. Data Sampling

The Benin-Owena River Basin Development Agency (BORDA) in Nigeria – has a landmass of 22045km² with an annual mean rain of 1023mm, and a perennial discharge of 3.8m/1.5m³/s respectively for dry and peak periods.



Table 1. Detailed Summary Sheet of Rainfall Features for 1999 – 2019

Data	S	de-season	trend	s-trend	residual	fit	SARIMA
75	0.97989	76.5392	83.4223	81.74468	0.917491	1	81.74468
83	0.95718	86.71305	83.46906	79.89491	1.038865	0.91616	73.19653
79	0.97322	81.17384	83.51582	81.27927	0.971958	1.03736	84.31586
79	0.97184	81.2891	83.56258	81.20946	0.972793	0.97055	78.81784
81	0.98179	82.50237	83.60934	82.08681	0.98676	0.97138	79.73749
84	1.02044	82.31743	83.65609	85.36602	0.983998	0.98533	84.1137
89	1.051	84.68126	83.70285	87.9717	1.011689	0.98257	86.43835
89	1.05003	84.75948	83.74961	87.9396	1.012058	1.01022	88.83835
88	1.04681	84.06492	83.79637	87.71888	1.003205	1.01059	88.64782
87	1.02522	84.85983	83.84313	85.95765	1.012126	1.00175	86.10808
79	0.99482	79.41135	83.88989	83.45534	0.946614	1.01066	84.34497
65	0.94775	68.58349	83.93665	79.55096	0.817086	0.94524	75.19475
79	0.97989	80.62129	83.4223	81.74468	0.966424	0.8159	66.69548
83	0.95718	86.71305	83.46906	79.89491	1.038865	0.96502	77.10019
83	0.97322	85.2839	83.51582	81.27927	1.021171	1.03736	84.31586
81	0.97184	83.34705	83.56258	81.20946	0.997421	1.01969	82.80847
84	0.98179	85.55801	83.60934	82.08681	1.023307	0.99597	81.756
85	1.02044	83.2974	83.65609	85.36602	0.995712	1.02182	87.22871
89	1.051	84.68126	83.70285	87.9717	1.011689	0.99427	87.46762
90	1.05003	85.71184	83.74961	87.9396	1.02343	1.01022	88.83835
88	1.04681	84.06492	83.79637	87.71888	1.003205	1.02194	89.64343
88	1.02522	85.83524	83.84313	85.95765	1.02376	1.00175	86.10808
83	0.99482	83.43218	83.88989	83.45534	0.994544	1.02227	85.31389
84	0.94775	88.63097	83.93665	79.55096	1.055927	0.9931	79.00206
87	0.97989	88.78548	83.4223	81.74468	1.064289	1.05439	86.19077
86	0.95718	89.84726	83.46906	79.89491	1.076414	1.06274	84.90752
82	0.97322	84.25639	83.51582	81.27927	1.008867	1.07485	87.36302
83	0.97184	85.405	83.56258	81.20946	1.022048	1.0074	81.81041
83	0.98179	84.53946	83.60934	82.08681	1.011125	1.02056	83.77452
85	1.02044	83.2974	83.65609	85.36602	0.995712	1.00966	86.19066
88	1.051	83.72978	83.70285	87.9717	1.000322	0.99427	87.46762
87	1.04681	83.10964	83.79637	87.71888	0.991805	0.99923	87.65133
85	1.02522	82.90903	83.84313	85.95765	0.988859	0.99036	85.12902
83	0.99482	83.43218	83.88989	83.45534	0.994544	0.98742	82.40547
85	0.94775	89.6861	83.93665	79.55096	1.068497	0.9931	79.00206
82	0.97989	83.68286	83.4223	81.74468	1.003123	1.06694	87.21667
76	0.95718	79.3999	83.46906	79.89491	0.95125	1.00167	80.02834
82	0.97322	84.25639	83.51582	81.27927	1.008867	0.94987	77.20474
81	0.97184	83.34705	83.56258	81.20946	0.997421	1.0074	81.81041
82	0.98179	83.52092	83.60934	82.08681	0.998942	0.99597	81.756
86	1.02044	84.27737	83.65609	85.36602	1.007427	0.99749	85.15175
87	1.051	82.77831	83.70285	87.9717	0.988954	1.00596	88.49601
100	1.05003	95.23537	83.74961	87.9396	1.137144	0.98752	86.84212



Data	S	de-season	trend	s-trend	residual	fit	SARIMA
86	1.04681	82.15435	83.79637	87.71888	0.980405	1.13549	99.60391
88	1.02522	85.83524	83.84313	85.95765	1.02376	0.97898	84.15082
80	0.98179	81.48382	83.60934	82.08681	0.974578	0.99597	81.756
100	1.02044	97.99694	83.65609	85.36602	1.171426	0.97316	83.0748
88	1.051	83.72978	83.70285	87.9717	1.000322	1.16972	102.9023
85	1.05003	80.95007	83.74961	87.9396	0.966572	0.99887	87.84023
89	1.04681	85.0202	83.79637	87.71888	1.014605	0.96517	84.66363
87	1.02522	84.85983	83.84313	85.95765	1.012126	1.01313	87.08628
100	0.99482	100.5207	83.88989	83.45534	1.198246	1.01066	84.34497
80	0.94775	84.41045	83.93665	79.55096	1.005645	1.1965	95.18272
81	0.97989	82.66234	83.4223	81.74468	0.99089	1.00418	82.08637
80	0.95718	83.57885	83.46906	79.89491	1.001315	0.98945	79.05202
83	0.97322	85.2839	83.51582	81.27927	1.021171	0.99986	81.26789
82	0.97184	84.37603	83.56258	81.20946	1.009735	1.01969	82.80847
79	0.98179	80.46527	83.60934	82.08681	0.962396	1.00827	82.76567
84	1.02044	82.31743	83.65609	85.36602	0.983998	0.961	82.03675
86	1.051	81.82683	83.70285	87.9717	0.977587	0.98257	86.43835
90	1.05003	85.71184	83.74961	87.9396	1.02343	0.97617	85.844
86	1.04681	82.15435	83.79637	87.71888	0.980405	1.02194	89.64343

The collected dataset is for the period (1999 – 2019), and was split into 3-sets: *training* (45%), *re-training* (25%) and *test* (30%). All fragment starts at period of constant low rainfall, which agrees with (Ojugo & Eboka, 2021; Ojugo & Ekurume, 2021b, 2021a; Ojugo & Nwankwo, 2021b).

3. THE EXPERIMENTAL FRAMEWORK

Our data-driven model of choice is the radial basis function (RBF) neural network – whose basic form is constructed as a multilayer perceptron (MLP) with I-H-O layers interconnected via weights and bias. The hidden layer sums the weighted input via an activation function as in Eq. 1 to compute output. This output is sent to nodes in hidden layer. W_{iJ} is weight between input and hidden layers, W_0 is bias weight and x_I is rainfall input signal sent via activation function to produce result. Thus, we adopt a hyperbolic tangent or sigmoid function:

$$Zij = w_{o}j + \sum_{i=1}^{m} x_{i} * w_{o}j \quad (1)$$

With output computed, error is fed back to input nodes via error backpropagation, to correct weights. Backpropagation training is used to find weights that estimates target values of output with selected accuracy. Weights are modified by minimizing the errors between target and computed outputs as each forward pass ends. If error is higher than selected value, the steps continue with a reverse pass; Else, training stops. BP updates weights via mean square error continuously until minimal error is achieved. A time-lag recurrent net extends MLP with short-memory, momentum learning that have local recurrent connections – requiring a smaller network to learn temporal problems (unlike in MLP that use extra inputs for past sample).



It is computationally more powerful than other adaptive models. It uses BP in time learning (training algorithm) so that its output at time t is used along with a new input to compute its output at time t+1 in response to dynamism (Akazue, Yoro, et al., 2023).

For non-linear tasks like rainfall, the RBF is constructed by modifying the MLP using extra or an additional 'context layer' to retain in memory data between observations. At each time step, new inputs are fed in and previous contents of the hidden layer are passed into this context layer – to be later, fed back into the hidden layer in the next time step. Context layer is initialized with 0. For any iteration, output from hidden layer is stored in this context layer. Weights are calculated same way for the new connections from and to the context layer from the hidden layer. It yields the Radial Basis Function (RBF) with Euclid distance measures input distance from its centre (Okonta et al., 2013, 2014; Wemembu et al., 2014). It learns by training its weights to best fit the data. The Gaussian activation function assumes approximation influence of data points at centre as the function decreases with distance from its centre as in Eq. 2 to 4 respectively (Ojugo, Aghware, et al., 2015a; Ojugo & Eboka, 2020a; Ojugo & Yoro, 2020):

$$r_{j} = ||y - Y^{(j)}|| = \sum_{i=1}^{m} ((y_{i} - w_{i}.j)^{2})^{\frac{1}{2}} \quad (2)$$

Transfer function is applied to r_j to give: $\varphi(r_j) = \varphi \left| \left| y - Y^{(j)} \right| \right|$ (3).

Output layer receives data as the weighted combination as:

$$y^{k} = w_{o} + \sum_{i=1}^{m} \left(c_{j}^{k} * \varphi(r_{j}) \right) = \sum_{i=1}^{m} [c_{j}^{k} * \varphi\{||y - Y^{(j)}]$$
(4)

Study adopts unsupervised RBF (BP with momentum learning) with an input-hidden-output structure of 60-18-1 (60 nodes as input, 18nodes as hidden, and 1-node for output) and we use Tansig function to control output. It trains the model to yield results and provide a fail-safe that eradicates noise in the stream in real-time); while we using the Hopfield as a control network. Control parameters are weight and bias with a single output layer that yields the runoff. The ensemble cum model's nonlinearity is identified via input parameter selection at training and cross-validation. The dataset retrieved is split as in fig 2 into: *training*, *cross-validation* and *testing*.

The model aims to predict future flood state and provide lead time warning without other feats such as land-use feats of watersheds. Preliminary results showed that ANN with one hidden layer outperforms those of two/more hidden layers, and to increase the number of parameters by adding more hidden layers, only complicates training and may result in over-training – as the network is complex enough to accurately predict dynamic, nonlinear and complex feats.



4. FINDINGS AND RESULT DISCUSSION

4.1. Proposed Ensemble Evaluation

We compute misclassification error rate, and improvement percent for train and test scenarios denoted by Eq. 8 and 9 respectively to yield table 2 as thus:

Classification Rate
$$\frac{No. of Incorrect class}{No. of Sample set}$$
 (8)
Improvement $\frac{MR(A) - MR(B)}{MR(A)} \ge 100$ (9)

Table 2. Summary Sheet For Benchmark Models

	Classif	ication	Improvement		
Model	Error	Rate	Percentage		
	Training	Testing	Training	Testing	
PHMM	0.137	0.102	0.075	0.845	
GANN	0.213	0.197	0.063	0.646	
DNN	0.112	0.032	0.0789	0.901	
RBF	0.0129	0.010	0.921	0.983	

Results in table 2 indicates that the hybrid RBF outperforms other heuristics. This can be attributed to the fact that RBF has a rule support. It yields a classification error rate of 1.29% (i.e. model's inability to capture false-positives and true-negatives error rate); while for PHMM, GANN and DNN stood at 13.7%, 21.3% and 11.2% respectively. However, the benchmark models (i.e. PHMM, GANN and DNN) promises an improvement of 84.5%, 64.6% and 90.1% respectively; while, our RBF yields an improvement of 98.3%. This is in agreement with (lbor et al., 2023; Ojugo, Aghware, et al., 2015b; Ojugo, Oyemade, et al., 2015; Yoro & Ojugo, 2019b, 2019a).

4.2. Findings and Discussion

Table 3 are performance values for the RBF and Hopfield networks are as thus:

Table 3: The proposed RBF versus Existing Hopfield Model Performance

Modol	Training / Cross Validation Phase						
WIUGEI	COE	r ²	MSE	MAE	MRE		
RBF	0.723	0.21	0.910	0.710	1.328		
Hopfield	0.832	0.34	0.945	0.623	0.789		
Testing Phase							
RBF	0.714	0.11	0.723	0.628	0.108		
Hopfield	0.833	0.28	0.756	0.512	1.310		

The RBF network yield a performance that is feasible for prediction. Its inaccuracy is clarified via longer training and larger dataset (as long as overtraining does not occur). Table 2 has the structure of 18-inputs, a single hidden layer with 18 nodes and a single output (18-18-1).



It implies improved performance at testing with greater efficiency (proper training and parameter selection – void of overfit, over-parameterization and over-train) (Akazue, Asuai, et al., 2023; Omede & Okpeki, 2023). Predicted values yielded better result for stations with larger size, and result also indicates that RBF is more easily trained to learn data feats and consistently outperforms other techniques used – though ANN's performance is not impaired by non-linearity and data selection.

Number of nodes in hidden layer influences network's performance. If it is small, network may not achieve its accuracy. If it is too many, may result in overtraining. The general pattern of rainfall over the period, and annual totals indicates spatial and temporal variability from cohesive relations between rainfall and runoff. Factors affecting runoff are more uniform in smaller area of catchments, and its coefficient determination increased with a decrease in the area.

Conflicts must be adequately resolved in to effectively harness the benefits therein the model, exploit the numeric data and explore the domain problem space to yield an optimal solution (Ojugo & Eboka, 2018c; Ojugo & Otakore, 2018a; Okobah & Ojugo, 2018). Modelers must select needed feature(s) to avoid model over-fit (Oyemade & Ojugo, 2020, 2021). Encoded via model's learning helps to address the issues of statistical dependencies between the various heuristics used, highlight implications of such a multi-agent populated model as well as resolve conflicts in data feats of interest. Thus, as agents creates and enforce their own rules on the dataset (Akazue, Debekeme, et al., 2023; Muslikh et al., 2023; Oladele et al., 2024).

5. CONCLUSION

Models are useful to represent reality as their primary value is to serve as educational tools for insight to help us better understand and reflect upon reality (Aghware et al., 2023b, 2023a). They compile knowledge and are vehicles to communicate hypotheses. Its sensitivity analysis help modelers to reflect on a variety of system theories (Malasowe et al., 2023; Ojugo, Akazue, Ejeh, Ashioba, et al., 2023; Ojugo, Akazue, Ejeh, Odiakaose, et al., 2023). Thus, a detailed model should be applicable on a grand scale. For runoff, it is used to examine hypotheses, and investigate which input features are most crucial to be estimated accurately.

We must thus, be keen to a model's feedback mechanism; rather than its accuracy of numeric agreement between its prediction and observation (Ojugo, Odiakaose, et al., 2023). Also, ensembles are valuable to help us understand runoff processes, as only understood models can be used. There must be a balance for complexity and simplicity, which is crucial for studying runoff (Yoro & Ojugo, 2019a). Thus, we recommend: (a) parameters are a major source of uncertainty. Model should have input ranges via Monte-Carlo methods, (b) a multi-criteria training with adequate data can help to reduce parameter uncertainty, and (c) prediction is of limited practical use, without data about reliability and accuracy.



REFERENCES

- Abda, Z., Zerouali, B., Chettih, M., Guimarães Santos, C. A., de Farias, C. A. S., & Elbeltagi, A. (2022). Assessing machine learning models for streamflow estimation: a case study in Oued Sebaou watershed (Northern Algeria). *Hydrological Sciences Journal*, 67(9), 1328–1341. https://doi.org/10.1080/02626667.2022.2083511
- Abdulrahim, A. T., Abdulkareem, S., Haruna, M., Bdulraheem1, A. S., Oluwole, F. A., 1, Ngala, G. M., & Mukhtar, 1 and U. A. (2021). Rainfall-runoff modeling for Challawa and Jakara catchment areas of Kano city, Nigeria. *Arid Zone Journal of Engineering, Technology & Environment*, 17(June), 211–220.
- Adegede, A. ., Ogbu, K. ., Ogwo, V., & Mbajiorgu, C. . (2014). Comparison of ACRU and HEC-HMS models in runoff prediction in a watershed, Southern Nigeria. *Journal of Agricultural Engineering and Technology*, 22(4), 142–149.
- Adeola Fashae, O., Olusola, A., & Onyemaenu, V. (2023). Rainfall-runoff in conterminous tropical river basins of Southwestern Nigeria. *African Geographical Review*, 42(1), 14–28. https://doi.org/10.1080/19376812.2021.1996250
- Adeola, O. A., Adeyemi, O., & Onyemaenu, V. (2021). Rainfall-Runoff in Conterminous Tropical River Basins of Southwestern Nigeria. *African Geographical Review*, 43(5), 1–16. https://doi.org/10.1080/19376812.2021.1996250
- Aghware, F. O., Yoro, R. E., Ejeh, P. O., Odiakaose, C. C., Emordi, F. U., & Ojugo, A. A. (2023a). DeLClustE: Protecting Users from Credit-Card Fraud Transaction via the Deep-Learning Cluster Ensemble. International Journal of Advanced Computer Science and Applications, 14(6), 94–100. https://doi.org/10.14569/IJACSA.2023.0140610
- Aghware, F. O., Yoro, R. E., Ejeh, P. O., Odiakaose, C. C., Emordi, F. U., & Ojugo, A. A. (2023b). Sentiment analysis in detecting sophistication and degradation cues in malicious web contents. *Kongzhi Yu Juece/Control and Decision*, 38(01), 653.
- Akazue, M. I., Asuai, C., Edje, A. E., & Omede, E. (2023). Cybershield: harnessing ensemble feature selection technique for robust distributed denial of service. *Kongzhi Yu Juece/Control and Decision*, 38(August), 1211–1224.
- Akazue, M. I., Debekeme, I. A., Edje, A. E., Asuai, C., & Osame, U. J. (2023). UNMASKING FRAUDSTERS : Ensemble Features Selection to Enhance Random Forest Fraud Detection. *Journal of Computing Theories and Applications*, 1(2), 201–212. https://doi.org/10.33633/jcta.v1i2.9462
- Akazue, M. I., Ojugo, A. A., Yoro, R. E., Malasowe, B. O., & Nwankwo, O. (2022). Empirical evidence of phishing menace among undergraduate smartphone users in selected universities in Nigeria. *Indonesian Journal of Electrical Engineering and Computer Science*, 28(3), 1756–1765. https://doi.org/10.11591/ijeecs.v28.i3.pp1756-1765
- Akazue, M. I., Yoro, R. E., Malasowe, B. O., Nwankwo, O., & Ojugo, A. A. (2023). Improved services traceability and management of a food value chain using block-chain network : a case of Nigeria. *Indonesian Journal of Electrical Engineering and Computer Science*, 29(3), 1623–1633. https://doi.org/10.11591/ijeecs.v29.i3.pp1623-1633
- Allenotor, D., & Ojugo, A. A. (2017). A Financial Option Based Price and Risk Management Model for Pricing Electrical Energy in Nigeria. Advances in Multidisciplinary & Scientific Research Journal, 3(2), 79–90.



- Allenotor, D., Oyemade, D. A., & Ojugo, A. A. (2015). A Financial Option Model for Pricing Cloud Computational Resources Based on Cloud Trace Characterization. *African Journal of Computing* & *ICT*, 8(2), 83–92. www.ajocict.net
- Aper, J. A., Iorkua, S. A., & Akegh, N. J. (2019). Relationship between Rainfall, Surface Runoff and Soil Loss on an Experimental Farm in the Middle Belt of Nigeria. *Nigerian Annals of Pure and Applied Sciences*, 1, 122–139. https://doi.org/10.46912/napas.116
- Awotwi, A., Anornu, G. K., Quaye-Ballard, J. A., & Annor, T. (2018). Monitoring land use and land cover changes due to extensive gold mining, urban expansion, and agriculture in the Pra River Basin of Ghana, 1986–2025. *Land Degradation & Development, 29*(10), 3331–3343. https://doi.org/10.1002/ldr.3093
- Carter, R. C., & Parker, A. (2009). Climate change, population trends and groundwater in Africa. *Hydrological Sciences Journal*, 54(4), 676–689. https://doi.org/10.1623/hysj.54.4.676
- Chen, H., Guo, S., Xu, C., & Singh, V. P. (2007). Historical temporal trends of hydro-climatic variables and runoff response to climate variability and their relevance in water resource management in the Hanjiang basin. *Journal of Hydrology*, 344(3-4), 171–184. https://doi.org/10.1016/j.jhydrol.2007.06.034
- Durowoju, O. S., Olusola, A. O., & Anibaba, B. W. (2018). Rainfall Runoff Relationship and its Implications on Lagos Metropolis. *Ife Research Publication in Geography*, 16(1), 25–33.
- Eboka, A. O., & Ojugo, A. A. (2020). Mitigating technical challenges via redesigning campus network for greater efficiency, scalability and robustness: A logical view. *International Journal of Modern Education and Computer Science*, *12*(6), 29–45. https://doi.org/10.5815/ijmecs.2020.06.03
- Gao, Y., Zhang, S., & Lu, J. (2021). Machine learning for credit card fraud detection. Proceedings of the 2021 1st International Conference on Control and Intelligent Robotics, 213–219. https://doi.org/10.1145/3473714.3473749
- Ibor, A. E., Edim, E. B., & Ojugo, A. A. (2023). Secure Health Information System with Blockchain Technology. *Journal of the Nigerian Society of Physical Sciences*, 5(992), 1–8. https://doi.org/10.46481/jnsps.2022.992
- Ifeka, A., & Akinbobola, A. (2015). Trend Analysis of Precipitation in Some Selected Stations in Anambra State. *Atmospheric and Climate Sciences*, 05(01), 1–12. https://doi.org/10.4236/acs.2015.51001
- Igwenagu, C. M. (2015). Trend Analysis of Rainfall Pattern in Enugu State, Nigeria. *European Journal* of Statistics and Probability, 3(3), 12–18. www.eajournals.org
- Iwara, A. I., Ogundele, F. O., & Ajisegiri, M. S. (2019). Rainfall-runoff-sediment relationship in vegetation fallows in the rainforest zones of Southern Nigeria. *Nigerian Journal of Geography and the Environment*, 4(1), 88–100.
- Malasowe, B. O., Akazue, M. I., Okpako, E. A., Aghware, F. O., Ojie, D. V., & Ojugo, A. A. (2023). Adaptive Learner-CBT with Secured Fault-Tolerant and Resumption Capability for Nigerian Universities. *International Journal of Advanced Computer Science and Applications*, 14(8), 135–142. https://doi.org/10.14569/IJACSA.2023.0140816
- Muslikh, A. R., Setiadi, I. D. R. M., & Ojugo, A. A. (2023). Rice disease recognition using transfer xception convolution neural network. *Jurnal Teknik Informatika (JUTIF)*, 4(6), 1541–1547. https://doi.org/10.52436/1.jutif.2023.4.6.1529
- Ngene, B. U., & Obianigwe, N. (2018). Nigerian Rain Gauge Station Optimization and National Development: The importance of Head Count. *IOP Conference Series: Materials Science and Engineering*, 413(1). https://doi.org/10.1088/1757-899X/413/1/012022



- Obiora-Okeke, O. A., Adewumi, J. R., & Ojo, O. M. (2021). Impact of Climate Change on Runoff Prediction in Ogbese River Watershed. *FUOYE Journal of Engineering and Technology*, 6(4), 392– 396. https://doi.org/10.46792/fuoyejet.v6i4.721
- Ojugo, A. A., Abere, R. A., Eboka, A. O., Yerokun, M. O., Yoro, R. E., Onochie, C. C., & Oyemade, D. A. (2013). Hybrid neural network models for rainfall runoffs: Comparative study. *Advancement in Scientific and Engineering Research*, 1(2), 22–34.
- Ojugo, A. A., Aghware, F. O., Yoro, R. E., Yerokun, M. O., Eboka, A. O., Anujeonye, C. N., & Efozia, F. N. (2015a). Dependable Community-Cloud Framework for Smartphones. *American Journal of Networks and Communications*, 4(4), 95. https://doi.org/10.11648/j.ajnc.20150404.13
- Ojugo, A. A., Aghware, F. O., Yoro, R. E., Yerokun, M. O., Eboka, A. O., Anujeonye, C. N., & Efozia, F. N. (2015b). Evolutionary Model for Virus Propagation on Networks. *Automation, Control and Intelligent Systems*, 3(4), 56. https://doi.org/10.11648/j.acis.20150304.12
- Ojugo, A. A., Akazue, M. I., Ejeh, P. O., Ashioba, N. C., Odiakaose, C. C., Ako, R. E., & Emordi, F. U. (2023). Forging a User-Trust Memetic Modular Neural Network Card Fraud Detection Ensemble: A Pilot Study. *Journal of Computing Theories and Applications*, 1(2), 1–11. https://doi.org/10.33633/jcta.v1i2.9259
- Ojugo, A. A., Akazue, M. I., Ejeh, P. O., Odiakaose, C., & Emordi, F. U. (2023). DeGATraMoNN: Deep Learning Memetic Ensemble to Detect Spam Threats via a Content-Based Processing. *Kongzhi Yu Juece/Control and Decision*, 38(01), 667–678.
- Ojugo, A. A., Ben-Iwhiwhu, E., Kekeje, O. D., Yerokun, M. O., & Iyawa, I. J. (2014). Malware Propagation on Social Time Varying Networks: A Comparative Study of Machine Learning Frameworks. *International Journal of Modern Education and Computer Science*, 6(8), 25–33. https://doi.org/10.5815/ijmecs.2014.08.04
- Ojugo, A. A., & Eboka, A. O. (2018a). Assessing Users Satisfaction and Experience on Academic Websites: A Case of Selected Nigerian Universities Websites. *International Journal of Information Technology and Computer Science*, *10*(10), 53–61. https://doi.org/10.5815/ijitcs.2018.10.07
- Ojugo, A. A., & Eboka, A. O. (2018b). Comparative Evaluation for High Intelligent Performance Adaptive Model for Spam Phishing Detection. *Digital Technologies*, 3(1), 9–15. https://doi.org/10.12691/dt-3-1-2
- Ojugo, A. A., & Eboka, A. O. (2018c). Modeling the Computational Solution of Market Basket Associative Rule Mining Approaches Using Deep Neural Network. *Digital Technologies*, 3(1), 1–8. https://doi.org/10.12691/dt-3-1-1
- Ojugo, A. A., & Eboka, A. O. (2020a). An Empirical Evaluation On Comparative Machine Learning Techniques For Detection of The Distributed Denial of Service (DDoS) Attacks. *Journal of Applied Science, Engineering, Technology, and Education, 2*(1), 18–27. https://doi.org/10.35877/454ri.asci2192
- Ojugo, A. A., & Eboka, A. O. (2020b). Memetic algorithm for short messaging service spam filter using text normalization and semantic approach. *International Journal of Informatics and Communication Technology (IJ-ICT)*, 9(1), 9. https://doi.org/10.11591/ijict.v9i1.pp9-18
- Ojugo, A. A., & Eboka, A. O. (2021). Empirical Bayesian network to improve service delivery and performance dependability on a campus network. *IAES International Journal of Artificial Intelligence (IJ-AI)*, 10(3), 623. https://doi.org/10.11591/ijai.v10.i3.pp623-635



- Ojugo, A. A., Eboka, A. O., Yoro, R. E., Yerokun, M. O., & Efozia, F. N. (2015). Hybrid Model for Early Diabetes Diagnosis. 2015 Second International Conference on Mathematics and Computers in Sciences and in Industry (MCSI), 50, 55–65. https://doi.org/10.1109/MCSI.2015.35
- Ojugo, A. A., & Ekurume, E. O. (2021a). Deep Learning Network Anomaly-Based Intrusion Detection Ensemble For Predictive Intelligence To Curb Malicious Connections: An Empirical Evidence. International Journal of Advanced Trends in Computer Science and Engineering, 10(3), 2090– 2102. https://doi.org/10.30534/ijatcse/2021/851032021
- Ojugo, A. A., & Ekurume, E. O. (2021b). Predictive Intelligent Decision Support Model in Forecasting of the Diabetes Pandemic Using a Reinforcement Deep Learning Approach. International Journal of Education and Management Engineering, 11(2), 40–48. https://doi.org/10.5815/ijeme.2021.02.05
- Ojugo, A. A., & Nwankwo, O. (2021a). Forging a Spectral-Clustering Multi-Agent Hybrid Deep Learning Model To Predict Rainfall Runoff In Nigeria. *International Journal of Innovative Science, Engineering and Technology*, 8(3), 140–147.
- Ojugo, A. A., & Nwankwo, O. (2021b). Spectral-Cluster Solution For Credit-Card Fraud Detection Using A Genetic Algorithm Trained Modular Deep Learning Neural Network. *JINAV: Journal of Information and Visualization*, 2(1), 15–24. https://doi.org/10.35877/454RI.jinav274
- Ojugo, A. A., Odiakaose, C. C., Emordi, F. U., Ejeh, P. O., Adigwe, W., Anazia, K. E., & Nwozor, B. (2023). Forging a learner-centric blended-learning framework via an adaptive content-based architecture. Science in Information Technology Letters, 4(1), 40–53. https://doi.org/10.31763/sitech.v4i1.1186
- Ojugo, A. A., & Okobah, I. P. (2017). Computational Solution for Modeling Rainfall Runoff Using Intelligent Stochastic Model: A Case of Warri in Delta State Nigeria. *Journal of Digital Innivations and Contemporary Res. in Science Engineering and Technology*, 5(4), 45–58. https://doi.org/10.22624
- Ojugo, A. A., & Otakore, D. O. (2018a). Redesigning Academic Website for Better Visibility and Footprint: A Case of the Federal University of Petroleum Resources Effurun Website. *Network and Communication Technologies*, 3(1), 33. https://doi.org/10.5539/nct.v3n1p33
- Ojugo, A. A., & Otakore, O. D. (2018b). Improved Early Detection of Gestational Diabetes via Intelligent Classification Models: A Case of the Niger Delta Region in Nigeria. *Journal of Computer Sciences and Applications*, 6(2), 82–90. https://doi.org/10.12691/jcsa-6-2-5
- Ojugo, A. A., & Otakore, O. D. (2020a). Computational solution of networks versus cluster grouping for social network contact recommender system. *International Journal of Informatics and Communication Technology (IJ-ICT)*, 9(3), 185. https://doi.org/10.11591/ijict.v9i3.pp185-194
- Ojugo, A. A., & Otakore, O. D. (2020b). Intelligent cluster connectionist recommender system using implicit graph friendship algorithm for social networks. *IAES International Journal of Artificial Intelligence*, 9(3), 497~506. https://doi.org/10.11591/ijai.v9.i3.pp497-506
- Ojugo, A. A., & Otakore, O. D. (2021). Forging An Optimized Bayesian Network Model With Selected Parameters For Detection of The Coronavirus In Delta State of Nigeria. *Journal of Applied Science, Engineering, Technology, and Education,* 3(1), 37–45. https://doi.org/10.35877/454RI.asci2163
- Ojugo, A. A., & Oyemade, D. A. (2021). Boyer moore string-match framework for a hybrid short message service spam filtering technique. *IAES International Journal of Artificial Intelligence*, *10*(3), 519–527. https://doi.org/10.11591/ijai.v10.i3.pp519-527



- Ojugo, A. A., Oyemade, D. A., Allenotor, D., Longe, O. B., & Anujeonye, C. N. (2015). Comparative Stochastic Study for Credit-Card Fraud Detection Models. *African Journal of Computing & ICT*, 8(1), 15–24. www.ajocict.net
- Ojugo, A. A., & Yoro, R. E. (2013). Computational Intelligence in Stochastic Solution for Toroidal N-Queen. *Progress in Intelligent Computing and Applications*, 1(2), 46–56. https://doi.org/10.4156/pica.vol2.issue1.4
- Ojugo, A. A., & Yoro, R. E. (2020). Predicting Futures Price And Contract Portfolios Using The ARIMA Model: A Case of Nigeria's Bonny Light and Forcados. *Quantitative Economics and Management Studies*, 1(4), 237–248. https://doi.org/10.35877/454ri.qems139
- Ojugo, A. A., & Yoro, R. E. (2021). Forging a deep learning neural network intrusion detection framework to curb the distributed denial of service attack. *International Journal of Electrical and Computer Engineering*, 11(2), 1498–1509. https://doi.org/10.11591/ijece.v11i2.pp1498-1509
- Ojugo, A. A., Yoro, R. E., Okonta, E. O., & Eboka, A. O. (2013). A Hybrid Artificial Neural Network Gravitational Search Algorithm for Rainfall Runoffs Modeling and Simulation in Hydrology. *Progress in Intelligent Computing and Applications*, 2(1), 22–34. https://doi.org/10.4156/pica.vol2.issue1.2
- Okafor, G. C., Jimoh, O. D., & Larbi, K. I. (2017). Detecting Changes in Hydro-Climatic Variables during the Last Four Decades (1975-2014) on Downstream Kaduna River Catchment, Nigeria. *Atmospheric and Climate Sciences*, 07(02), 161–175. https://doi.org/10.4236/acs.2017.72012
- Okafor, G. C., & Ogbu, K. N. (2018). Assessment of the impact of climate change on the freshwater availability of Kaduna River basin, Nigeria. *Journal of Water and Land Development*, 38(1), 105–114. https://doi.org/10.2478/jwld-2018-0047
- Okobah, I. P., & Ojugo, A. A. (2018). Evolutionary Memetic Models for Malware Intrusion Detection: A Comparative Quest for Computational Solution and Convergence. International Journal of Computer Applications, 179(39), 34–43. https://doi.org/10.5120/ijca2018916586
- Okonta, E. O., Ojugo, A. A., Wemembu, U. R., & Ajani, D. (2013). Embedding Quality Function Deployment In Software Development: A Novel Approach. *West African Journal of Industrial & Academic Research*, 6(1), 50–64.
- Okonta, E. O., Wemembu, U. R., Ojugo, A. A., & Ajani, D. (2014). Deploying Java Platform to Design A Framework of Protective Shield for Anti– Reversing Engineering. *West African Journal of Industrial & Academic Research*, 10(1), 50–64.
- Oladele, J. K., Ojugo, A. A., Odiakaose, C. C., Emordi, F. U., Abere, R. A., Nwozor, B., Ejeh, P. O., & Geteloma, V. O. (2024). BEHeDaS: A Blockchain Electronic Health Data System for Secure Medical Records Exchange. *Journal of Computing Theories and Applications*, *2*(1), 1–12. https://doi.org/10.33633/jcta.v2i19509
- Oludapo Olusola, A., Olumide, O., Adeola Fashae, O., & Adelabu, S. (2022). River sensing: the inclusion of red band in predicting reach-scale types using machine learning algorithms. *Hydrological Sciences Journal*, 67(11), 1740–1754. https://doi.org/10.1080/02626667.2022.2098752
- Omede, E. U., & Okpeki, U. K. (2023). Use of Mathematical and Unified Modelling Language Tools to Provide Learning Motivation System for Students in Tertiary Institution. *Journal of Applied Sciences and Environmental Management*, 27(6), 1135–1139. https://doi.org/10.4314/jasem.v27i6.11



- Oseke, F. I., Anornu, G. K., Adjei, K. A., & Eduvie, M. O. (2021). Predicting the impact of climate change and the hydrological response within the Gurara reservoir catchment, Nigeria. *Journal of Water and Land Development*, 51(X–XII), 129–143. https://doi.org/10.24425/jwld.2021.139023
- Oyebode, E., Adekalu, K., & Akinboro, S. (2011). Development of rainfall-runoff forecast model. *Journal* of Research in National Development, 8(2), 56–66. https://doi.org/10.4314/jorind.v8i2.66854
- Oyemade, D. A., & Ojugo, A. A. (2020). A property oriented pandemic surviving trading model. International Journal of Advanced Trends in Computer Science and Engineering, 9(5), 7397– 7404. https://doi.org/10.30534/ijatcse/2020/71952020
- Oyemade, D. A., & Ojugo, A. A. (2021). An Optimized Input Genetic Algorithm Model for the Financial Market. *International Journal of Innovative Science, Engineering and Technology*, 8(2), 408– 419. https://ijiset.com/vol8/v8s2/IJISET_V8_I02_41.pdf
- Oyerinde, G. T., Hountondji, F. C. C., Wisser, D., Diekkrüger, B., Lawin, A. E., Odofin, A. J., & Afouda, A. (2015). Hydro-climatic changes in the Niger basin and consistency of local perceptions. *Regional Environmental Change*, 15(8), 1627–1637. https://doi.org/10.1007/s10113-014-0716-7
- Panjala, P., Gumma, M. K., Ajeigbe, H. A., Badamasi, M. M., Deevi, K. C., & Tabo, R. (2022). Identifying Suitable Watersheds across Nigeria Using Biophysical Parameters and Machine Learning Algorithms for Agri–Planning. *ISPRS International Journal of Geo-Information*, 11(8). https://doi.org/10.3390/ijgi11080416
- Rhoda, O., Buku, E., & Godwin, A. (2017). Analysis of rainfall pattern and flood incidences in warri metropolis, Nigeria. *Geography, Environment, Sustainability,* 10(4), 83–97.
- Wemembu, U. R., Okonta, E. O., Ojugo, A. A., & Okonta, I. L. (2014). A Framework for Effective Software Monitoring in Project Management. West African Journal of Industrial and Academic Research, 10(1), 102–115. http://www.ajol.info/index.php/wajiar/article/view/105798
- Yoro, R. E., Aghware, F. O., Akazue, M. I., Ibor, A. E., & Ojugo, A. A. (2023). Evidence of personality traits on phishing attack menace among selected university undergraduates in Nigerian. International Journal of Electrical and Computer Engineering, 13(2), 1943. https://doi.org/10.11591/ijece.v13i2.pp1943-1953
- Yoro, R. E., Aghware, F. O., Malasowe, B. O., Nwankwo, O., & Ojugo, A. A. (2023). Assessing contributor features to phishing susceptibility amongst students of petroleum resources varsity in Nigeria. *International Journal of Electrical and Computer Engineering (IJECE)*, 13(2), 1922. https://doi.org/10.11591/ijece.v13i2.pp1922-1931
- Yoro, R. E., & Ojugo, A. A. (2019a). An Intelligent Model Using Relationship in Weather Conditions to Predict Livestock-Fish Farming Yield and Production in Nigeria. *American Journal of Modeling and Optimization*, 7(2), 35–41. https://doi.org/10.12691/ajmo-7-2-1
- Yoro, R. E., & Ojugo, A. A. (2019b). Quest for Prevalence Rate of Hepatitis-B Virus Infection in the Nigeria: Comparative Study of Supervised Versus Unsupervised Models. *American Journal of Modeling and Optimization*, 7(2), 42–48. https://doi.org/10.12691/ajmo-7-2-2
- Zala, D. H., & Chaudhari, M. B. (2018). Review on use of "BAGGING" technique in agriculture crop yield prediction. *IJSRD International Journal for Scientific Research & Development*, 6(8), 675–676.